7.5

10m p(x)=(0.3x+6)kg/m 0<x<10
m= _[010 (0.3x+6)dx=75 kg 75kg
y=x2 -1<x<1
y 11 q

3
Q= qj'_ll|x| V1+4x%dx = q%(1+ 4x?)?

=2 (6V5-1q

L5510
36m 24m 16m

4m 1000kg/m®

X dx

dF =1000g(4+ x)[24+%(16— x)} dx

F =1000g] " (4+ x)[24+%(16— x)}dx ~5.4x10" (N)

X = acost,
y=asint, t>0 a>0b>0
Z = bt,

Oxy
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m= joz” kbt/a? + b2dt = 2kby/a? + b 72

10m 30m

W = [*x-10°g - 710°dx =1.04x10° (J)

r p

X 2r — x
(2rx—x*)x £
2r 2 2r 2
W =pgnj0 (2r —x)(2rx—x )dx+(p—p0)g7r_[0 X(2rx — x°)dx
4 .,
=§7ZT 9(2p - po)

r P o

2
W =%Ico2 = %Ioz P(2rx=X*) 2721 = X 1+ y X

2 r
=a)—_|.2 P(2rx—x?)272rx — X° T dx
2 o V2rx—x?

- ,oa)zr;r_[o2r (2rx — x?)dx = %ﬂ'pa)zl’A
Im 2.5cm 15N
1.1m 1.2m

F =kx x=0.025m F=15N k =600
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s=3t*-t
t=1 t=T
F v=s'=0t"-1 F=k(9t? -1)°
w = ["Fsidt = [ ot? ~D)*at =@T7 —%TS +QT? T —%
Im 2m
1cm
v=06x,/2gh
t h dt

71>dh = —(0.01)*vdt = —7(0.01)* x 0.6,/2ghdt

9N 6x10°2gat

B

h=2(1-3x107°/gt)?

10°

N

=1.06x10* S
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t—t, =1600

[t,t+dt]

Q=Q()

Qo

dt
t, Q9
Q(t) = Qe
_Q
QW ="

t—t,

Q = Qozim

20%

y(t) ]

pmax -
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p(t)

Q9

B

Malthus

1600

_In2
1600

25%

Verhulst

B



dp(t) _ _ _
—at P = PM)  P() =Py

P(t) = Proax — (Prax — Po)e <™

p
pma:
Py
lD t
P Malthus A 115 Y P Verhulst ) 111§ 7
ty t L
t N(t)
N(0) =N,
- bl
N
N N
dt
N(0) = N,
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N(t) = Ne**

N() )" _ g _(NWY'
NO NO

1000m° a % 1m® min
t
t y(t)
1 a
dy=———vy@®)dt  y(0)=—=
y 1000y() y(0) 100

t

a
t) = —— @ 1000
y(t) 100

y(t) = 2 glo®0 — 2 t=1000In2 min

1000In2 min
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